Nr |[CODE DESCRIPTION Nr |CODE DESCRIPTION
1 |0111STRMO1 | Mini Streamer pump body 13 | 0111STRMO6 | Mini Streamer prefilter lid
0111STRMO1N | Mini Streamer pump body (New) 0111STRMO6N | Mini Streamer prefilter lid (New)
2 |13111412A Mini pump connection nut 1 172" 14 | 0111STRMO7 | Diffuser for mini pump
3 |0111STRMO2 | Mini pump pipe connection 1 1/2" 15 | 0111STR37 Inox counter screw M6x20
4 |0111STRMO3 | Gasket for mini pump union 16 | 0111STRMO8 | Mini Streamer impeiler
5 |0111STR02 Drain plug 17 | 0111STRM12 | Mini Streamer pump body o-ring
6 |0111STR03 O-ring for drain plug 18 [ 0111STRM13 | Mini Streamer rear pump body
7 |0111STRO4 Pump leg 19 | 03202 Washer inox M8
8 |0111STRO5 Antivibrator pad for pump leg 20 | 0111STR21 Inox screw M8x20
9 |0111STR06 Diffuser gasket 25 | 0111STR34 Mechanical seal complete
10 |0111STRMO4 | Mini Streamer prefilter basket 27 | 0111STR36 Housing for filter lid bolts
11 |0111STRMO5 | Mini Streamer prefilter lid gasket 28 | 0111STRMO4H | High pump leg (Mini Streamer)
0111STRMO5N | Mini Streamer prefilter lid gasket (New)| 29 | 0111STRMO04H1| High pump leg chock (Mini Streamer)
12 |0111STRO9 Prefilter lid bolt 30 | 0111STRM16 | Mini Streamer pump prefilter lid frame




19 20

29 18
No|KOD ACIKLAMA No | KOD ACIKLAMA
1 |0111STRMO1 | Mini Streamer 6n filtre govdesi 13 | 0111STRMO06 | Pompa 6n filtre kapag
0111STRMO1TN | Mini Streamer 6n filtre gévdesi (Yeni) 0111STRMO6N | Pompa 6n filtre kapagi (New)
2 |13111412A | Pompa rakoru 1 1/2" 14 | 0111STRMO7 | Difuzor
3 |0111STRMO02 | Pompa boru baglantisi, 11/2" 15 | 0111STR37 Kontra cvata inoks M6x20
4 |0111STRMO3 | Pompa rakor o-ringi 16 | 0111STRM08 | Fan
5 |0111STR0O2 Kor tapa 17 | 0111STRM12 | Govde o-ringi
6 |0111STR0O3 Kér tapa o-ringi 18 | 0111STRM13 | Pompa arka kapagi
7 |0111STRO4 Pompa ayagi 19 | 03202 Pul inox M8
8 |0111STRO5 Pompa ayak lastigi 20 | 0111STR21 Civata inoks M8x20
9 |0111STR06 Pompa diflizdr contas 25 | 0111STR34 Mekanik salmastra - komple
10 |0111STRMO4 | Pompa 6n filtre sepeti 27 | 0111STR36 Kapak vida yuvas
11 |0111STRMO5 | Pompa 6n filtre kapak o-ringi 28 | 0111STRMO4H | YUksek pompa ayagi
0111STRMO5N | Pompa 6n filtre kapak o-ringi (Yeni) | 29 | 0111STRMO04H1| YUksek pompa ayadi takozu
12 | 0111STR09 Pompa 6n filtre kapak vidasi 30 | 0111STRM16 | Pompa 0n filtre kapak cercevesi






